Copyright Lappset Group Ltd

% LAPPSET.

081430M

SPORT DATE:  25.8.2017 1(2)
(1) 706048 [Pcs((2) 705345 [ecs|
@ i 1
" |120x120x1520] |
(3 705439 [pcs|(@) 980114 [P
2] 4
el

] @4x20 -
(5) 905104 |pcs|(6) 905761 |pes
4 a
Mo | |120x120x700] |
(?) 905830 [pcs|(8) 980104 [°cs|
% 1 il
123x123x40 | | @5x00 | |
980123 [pcs|10) 909256 |pes

20 20
@7x60 | | @16/8.4 | |

BASE
DET 1—-4
OR 7-9




% LAPPSET. 081430M

SPORT DATE: 25.8.2017

Copyright Lappset Group Ltd

L]

1660
1590
1490
1440
1440

710
710

100

|

<
]
]

Area of Movement 8.8 m2
Training Space 4.6 m2
Max Falling Height O mm

420

A
/

1500 Ql 2
e{I}= N
N M
o
M
\o/
o
n
2000
3420




8% LAPPSET. m

Impact Area EN 11'@@ REF:

Copyright Lappset Group Ltd

] DATE:

20.2.2018

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

TAdag g TRt ama ), 9% 98 Jaga
sen i a3 3% 50 eml Ll

T e - - 4.4 . 44
grass

h <3000

L oose fill material

F.g. Toee
sand/gravel 0,25...8 mm D60/D10<3,0 | = o :
Woodchips 5...30 mm : ae Ol
bark 20...80 mm “a . ) 3
= =TT
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al /%/j‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2.1..2.5 m —— e

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright 1998 Lappset Group Ltd

% LAPPSET

PARTS

SPORT DATE:  26.8.2015 1(10)
DET 1 DET 2
716 /8.4
@ 316,/8.4
IS (909256)
. 3
O7x60 P )j
(980123) N
&
\\\905934
DET 3 DET 4 .
0 L M8 «
705024 (=0 | I iMoo (009633)]  /(0092%)

M8 N SCrews 905956
(909633) @ (901899) ¢ - MBx35
o1 6/8 4 / 5 / (909855)

909256 ; 'f Two—sided
< ) /N 0 o use M8x45

M8x35 SCrews
(909855) el ¢(901899)
Acryl+sticker \kf_’//
DET 5@ZWEx/8¢4V DET 6
5093553 TYED 716 /8.4
) (980123) (909256)
O7x60 -
(980123)

906009




Copyright 1998 Lappset Group Ltd

% LAPPSET. PARTS
SPORT DATE: 26.8.2015 2(10)
DET 7/ / DET 8 @24/W3
ME W24 /8.4
930154
(909633) (980152) Q ( )
| MT2XT40
‘o ‘ (909246)
i M8x30
(909852) 905105
.
DET 9 DET 10
/05049
716 /8.4
(909256)
/X060
(98@W237\\\\t77§
/ —_ /%60
906114 / (980123)
/05597
DET 11
Ny @
G7x60 / ‘*
705397 (980123)
S 716 /8.4
M10 e (909256)
(905104) =@
@ /05392




% LAPPSET. PARTS

SPORT DATE: 26.8.2015 3(10)
DET 13 DET 14
LO)
016 /8.4 s
(909256)

0/ x60
(980123)

DET 15 DET 16

5%100 Wox90
(909233) (980104)
$32/13.5 e 905830
(909253)
Place the logo laterall

Copyright 1998 Lappset Group Ltd

M12 724 /8.4
(902234)| 1 (509505)
DET 17 | DET 18
ox90
Joxdu ] (980104)
(980104) PN
905330 9058450

Place the logo laterdll

Place the logo laterall




Copyright 1998 Lappset Group Ltd

% LAPPSET.

PARTS

SPORT DATE: 26.8.2015 4(10)
DET 19 = = DET 20
M10x40
- (901487)
M10Ox55
(902252)
020 /10.5x2 19%x21%x25

(901302)

M10
(909637)

(903193)

220 /10.5x2
(901302)

M10
(909637)

o wm

e

Muoviosan sijoitus (903193)
Position of the plastic piece

/05435
/054354

Jax /0

////<9OC&“MD

%

DET 23
D52
(905083)

216 /8.4

(980151)

DET 24




Copyright 1998 Lappset Group Ltd

8 LAPPSET. PARTS
SPORT DATE: 26.8.2015 5(10)
DET 25 |3y D5 DET 26
(909850) /2§§%% 216/8.4
- “f < (909256)
04/8.4 =N e
(980152) (980123)
M8 -
/05459
@T g7x60
s (980123)
DET 27/ DET 28
716 /8.4
(909256)
9U6o// ~ £ B7x60 <;;;;> S
. (980123) ™ ‘“'
75X60
15% 35 (980100)
980129) \. )
( ) v &
DET 29 DET 30
M8x30 <
902195
1 Oy 30 (909852)
90611/
(902233)
p @24 /8.4
///////// ) (980152)
A N 9\
7~ %
a M8
s | @m0 N |
980123 |
906006 (902232) ( ) 016/8.4
(909256)




Copyright 1998 Lappset Group Ltd

8 LAPPSET PARTS
SPORT DATE:  26.8.2015 6(10)
DET 31 DET 32
,///
M8x 40 = €
316 /8.4 e 7
(909256) //
B37x60 752
(980123) '
216 /8.4
/05407
DET 33
216 /8.4
(909256)
B7x60 L)

(980123) e LA

705505
THE WATER HOLE g
DET 35 DET 36
9060635/
90/560

WEx60
« (906630)

/056520

THE WATER HOLE

906/ /0

9089 /6




% LAPPSET

PARTS

Copyright 1998 Lappset Group Ltd

SPORT DATE: 26.8.2015 7(10)
DET 37/ DET 38
N
SN P
/055608 (980123)
@ g |, \@\ %@
o @16 /8.4 %ggﬁ .,
M10 @ (909256)
(905104) @ ||l @ | &
®
705568
DET 39 DET 40
906615
B ]
§ © =
N /X
o (980123)
906613 = — 716 8.4
f (909256)
DET 41 DET 42
M8x 40
(909873) M10 MTOx55
705585 (980161) (802232)
NS M10x30

(909256)

M8
(980160)

(902233)




Copyright 1998 Lappset Group Ltd

% LAPPSET

SPORT

PARTS

DATE: 26.8.2015

8(10)

DET 43

Jox60

M\\

900583

DET 44

Wox60
(980100)

/0540

DET 45
3x60

DET 46

DET 47

DET 48
















































